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4.2.5 Reésoudre les

a) x = log,(32)

[0 ():’Z- =7 L =
3 y

équations ci-dessous :

b) 22 =100 c¢) log,(256) = 4 d) log,(z) =4

e) 10°=5 f) e ' =27 g) log,(1'000) =3 h) 12* = —49
a) X=5
2
bh) X = oé OU. 10, 2.3
(03 (1)

o 2L —1 _ 24
wx-1 = 4n(2%)
o €n(23) +1
2
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4.2.6 Reésoudre les équations ci-dessous :
a) logy,(z + 1) = logy(7) b) loge(2z — 3) = logg(12) — logg(3)
c)” log(z) —log(z + 1) = 3log(4) d) 2log.(x) = 3log,(5)

e) In(z)+In(z —2)=0,5In(9) f) logg(x+4) =1 —logg(z — 3)
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’1) 6821—5 Q;C + A= O “pn(‘;)/
2) EV\(X—%) -t va()(—u) = @A(Xz—es) -
) An (3-4) + (3 +4) = ba(4t= 24) "
) hlex-2) ¢ Ialaxe) = dae) Y,
5) &\[3)(—&4) t en(%x-—g_) = @q(xz...)( +1) ’3/",

1) 6(61)2- 5(61) t 1 =0

C\'MV}W(’M‘ da U&H&b& « POSOV\J £ - = é donc X = €M (é)

2
LE -5 £ + 4 =6
(2t — 1 )(26 — 1] =0



(Hx -1 ){3x =2)

(X )

= 0
‘j"" ek X =
2) + (5



